Parish	Tax Base 2024/25	Precept 2024/25	Band 'D' 2024/25	Tax Base 2023/24	Precept 2023/24	Band 'D' 2023/24	% Change in Precept 23/24 - 24/25
Aby & Greenfield	61	£2,000	£32.79	64	£1,800	£28.13	11.11%
Addlethorpe	114	£6,195	£54.34	113	£6,211	£54.96	-0.26%
Alford	1,117	£215,766	£193.17	1088	£189,922	£174.56	13.61%
Alvingham	106	£2,385	£22.50	106	£2,385	£22.50	0.00%
Anderby	160	£6,615	£41.34	163	£6,300	£38.65	5.00%
Ashby & Scremby	61	£0	£0.00	58	£0	£0.00	0.00%
Asterby Group	126	£3,384	£26.86	124	£1,980	£15.97	70.91%
Aswardby	22	£0	£0.00	23	£0	£0.00	0.00%
Authorpe	42	£0	£0.00	42	£0	£0.00	0.00%
Baumber	64	£3,268	£51.06	65	£3,112	£47.88	5.00%
Beesby & Saleby	76	-£198	-£2.61	75	-£198	-£2.64	0.00%
Belchford Group	149	£3,100	£20.81	148	£3,100	£20.95	0.00%
Belleau	10	£0	£0.00	10	£0	£0.00	0.00%
Benniworth	81	£2,000	£24.69	82	£1,500	£18.29	33.33%
Bilsby Group	177	£3,800	£21.47	175	£3,800	£21.71	0.00%
Binbrook	311	£19,320	£62.12	316	£18,360	£58.10	5.23%
Bolingbroke	140	£11,424	£81.60	139	£11,424	£82.19	0.00%
Brackenborough Group	37	£0	£0.00	35	£0	£0.00	0.00%
Brinkhill	46	£0	£0.00	42	£0	£0.00	0.00%
Bucknall Group	135	£2,100	£15.56	127	£2,000	£15.75	5.00%
Burgh le Marsh	894	£81,069	£90.68	863	£77,468	£89.77	4.65%
Burgh on Bain	46	£0	£0.00	45	£0	£0.00	0.00%
Burwell	26	£0	£0.00	26	£0	£0.00	0.00%
Calcethorpe Group	21	£0	£0.00	19	£0	£0.00	0.00%
Candlesby & Gunby	55	£0	£0.00	57	£0	£0.00	0.00%
Carrington	185	£15,000	£81.08	177	£10,000	£56.50	50.00%
Chapel St Leonards	1,272	£141,498	£111.24	1202	£141,498	£117.72	0.00%
Claxby & Moorby	21	£0	£0.00	21	£0	£0.00	0.00%
Claythorpe	8	£0	£0.00	8	£0	£0.00	0.00%
Coningsby	1,298	£143,000	£110.17	1256	£130,000	£103.50	10.00%
Conisholme	23	£0	£0.00	21	£0	£0.00	0.00%
Covenham Group	157	£9,206	£58.64	158	£8,934	£56.54	3.04%
Croft	315	£13,488	£42.82	308	£12,262	£39.81	10.00%
Cumberworth	40	£0	£0.00	41	£0	£0.00	0.00%
Donington on Bain	128	£10,000	£78.13	129	£10,000	£77.52	0.00%

Parish	Tax Base 2024/25	Precept 2024/25	Band 'D' 2024/25	Tax Base 2023/24	Precept 2023/24	Band 'D' 2023/24	% Change in Precept 23/24 - 24/25
E & W Barkwith	169	£12,500	£73.96	170	£11,600		7.76%
East Keal	148	£8,993	£60.76	149	£2,500		259.73%
East Kirkby	100	£3,500	£35.00	101	£3,250		7.69%
Eastville, Midville & New Leake	189	£16,000	£84.66	188	£15,000		6.67%
Edlington Group	58	£0	£0.00	59	£0		0.00%
Elkington (N & S)	108	£2,053	£19.01	108	£2,000		2.65%
Firsby Group	388	£4,400	£11.34	391	£4,400		0.00%
Fotherby	156	£9,544	£61.18	159	£9,089		5.01%
Friskney	466	£18,000	£38.63	457	£18,000		0.00%
Frithville Group	222	£9,500	£42.79	214	£8,600		10.47%
Fulstow	220	£4,400	£20.00	217	£4,100		7.32%
Gayton le Marsh	49	£700	£14.29	49	£700		0.00%
Gayton le Wold	17	£0	£0.00	16	£0	£0.00	0.00%
Grainthorpe	228	£4,045	£17.74	229	£4,641	£20.27	-12.84%
Grt & Ltl Carlton	101	£1,000	£9.90	100	£1,000		0.00%
Great Sturton	17	£0	£0.00	16	£0		0.00%
Greetham Group	70	£0	£0.00	69	£0		0.00%
Grimoldby & Manby	657	£20,283	£30.87	649	£22,542	£34.73	-10.02%
Hagworthingham	156	£7,324	£46.95	154	£7,324		0.00%
Hainton	32	£0	£0.00	33	£0		0.00%
Hallington	14	£0	£0.00	14	£0		0.00%
Haltham	50	£0	£0.00	50	£0		0.00%
Halton Holegate	158	£4,750	£30.06	158	£4,500		5.56%
Hameringham	31	£0	£0.00	29	£0		0.00%
Hannah cum Hagnaby	20	£0	£0.00	19	£0		0.00%
Harrington	22	£0	£0.00	25	£0		0.00%
Hatton	47	£0	£0.00	49	£0		0.00%
Hemingby	100	£3,020	£30.20	98	£2,878	£29.37	4.93%
High Toynton	26	£0	£0.00	25	£0	_0.00	0.00%
Hogsthorpe	284	£11,870	£41.80	279	£11,523		3.01%
Holton le Clay	1,293	£76,773	£59.38	1303	£72,427	£55.58	6.00%
Horncastle	2,527	£267,728	£105.95	2447	£241,952	£98.88	10.65%
Horsington	93	£4,200	£45.16	89	£4,000		5.00%
Hundleby	180	£7,500	£41.67	179	£5,000		50.00%
Huttoft	192	£8,435	£43.93	187	£7,290		15.71%
Ingoldmells	519	£51,818	£99.84	511	£49,350	£96.58	5.00%

Parish	Tax Base 2024/25	Precept 2024/25	Band 'D' 2024/25	Tax Base 2023/24	Precept 2023/24	Band 'D' 2023/24	% Change in Precept 23/24 - 24/25
Keddington	55	£0	£0.00	57	£0		0.00%
Kirkby on Bain	128	£7,500	£58.59	125	£5,400	£43.20	38.89%
Langriville	139	£11,550	£83.09	136	£10,500	£77.21	10.00%
Langton by Horncastle	14	£0	£0.00	14	£0	£0.00	0.00%
Langton by Wragby	35	£0	£0.00	36	£0	£0.00	0.00%
Langton/Sutterby	18	£0	£0.00	17	£0	£0.00	0.00%
Legbourne	285	£6,480	£22.74	281	£6,414	£22.83	1.03%
Little Cawthorpe	76	£4,750	£62.50	76	£4,750	£62.50	0.00%
Louth	5,700	£309,032	£54.22	5551	£300,082	£54.06	2.98%
Low Toynton	15	£0	£0.00	14	£0	£0.00	0.00%
Ludborough	93	£3,500	£37.63	91	£3,696	£40.62	-5.30%
Ludford	154	£4,750	£30.84	153	£4,750	£31.05	0.00%
Lusby & Winceby	33	£0	£0.00	33	£0	£0.00	0.00%
Mablethorpe Group	4,000	£683,893	£170.97	3923	£641,463	£163.51	6.61%
Maidenwell	20	£0	£0.00	19	£0	£0.00	0.00%
Maltby le Marsh	150	£4,600	£30.67	146	£4,500	£30.82	2.22%
Mareham le Fen	343	£15,646	£45.62	339	£12,320	£36.34	27.00%
Mareham on the Hill	36	£0	£0.00	37	£0	£0.00	0.00%
Markby	21	£0	£0.00	21	£0	£0.00	0.00%
Market Stainton	13	£0	£0.00	14	£0	£0.00	0.00%
Marshchapel	249	£12,342	£49.57	250	£12,248	£48.99	0.77%
Mavis Enderby	32	£300	£9.38	32	£0	£0.00	* See note
Minting & Gautby	118	£5,800	£49.15	119	£5,500	£46.22	5.45%
Muckton	13	£0	£0.00	12	£0	£0.00	0.00%
Mumby	153	£7,382	£48.25	153	£6,300	£41.18	17.17%
North Cockerington	69	£350	£5.07	69	£350	£5.07	0.00%
North Cotes	191	£9,000	£47.12	190	£9,000	£47.37	0.00%
North Ormsby	17	£0	£0.00	18	£0	£0.00	0.00%
North Somercotes	570	£44,000	£77.19	573	£41,796	£72.94	5.27%
North Thoresby	466	£38,000	£81.55	461	£38,000	£82.43	0.00%
Orby	147	£2,903	£19.75	135	£2,765	£20.48	4.99%
Partney & Dalby	102	£5,760	£56.47	104	£5,760	£55.38	0.00%
Raithby	57	£0	£0.00	57	£0	£0.00	0.00%
Raithby cum Maltby	28	£0	£0.00	29	£0	£0.00	0.00%
Reston (N & S)	66	£0	£0.00	67	£0	£0.00	0.00%
Revesby	81	£2,500	£30.86	83	£2,500	£30.12	0.00%

Parish	Tax Base 2024/25	Precept 2024/25	Band 'D' 2024/25	Tax Base 2023/24	Precept 2023/24	Band 'D' 2023/24	% Change in Precept 23/24 - 24/25
Rigsby & Ailby	7	£0	£0.00	7	£0		0.00%
Roughton	248	£3,600	£14.52	249	£3,240	£13.01	11.11%
Saltfleetby Group	199	£9,000	£45.23	202	£9,000	£44.55	0.00%
Sausthorpe	36	£0	£0.00	34	£0		0.00%
Scamblesby	106	£2,600	£24.53	107	£2,365		9.94%
Scrivelsby	16	£0	£0.00	16	£0	£0.00	0.00%
Sibsey	714	£100,000	£140.06	698	£72,200	£103.44	38.50%
Skegness	5,940	£680,266	£114.52	5798	£617,375		10.19%
Skendleby	56	£0	£0.00	55	£0	£0.00	0.00%
Skidbrooke Group	190	£8,000	£42.11	187	£7,750	£41.44	3.23%
Sotby	25	£0	£0.00	24	£0	£0.00	0.00%
South Cockerington	89	£1,000	£11.24	88	£1,000	£11.36	0.00%
South Ormsby	29	£0	£0.00	31	£0	£0.00	0.00%
South Somercotes	72	£4,410	£61.25	69	£4,200	£60.87	5.00%
South Willingham	65	£1,040	£15.99	65	£990	£15.23	5.00%
Spilsby	904	£151,172	£167.23	902	£140,625	£155.90	7.50%
Stenigot	11	£0	£0.00	12	£0	£0.00	0.00%
Stewton	21	£0	£0.00	22	£0	£0.00	0.00%
Stickford	166	£5,750	£34.64	168	£4,152	£24.71	38.49%
Stickney	370	£25,000	£67.57	365	£23,000	£63.01	8.70%
Strubby Group	62	£875	£14.11	60	£810	£13.50	8.02%
Swaby Group	114	£3,430	£30.09	113	£3,224	£28.53	6.39%
Tathwell/Haugham	103	£4,043	£39.25	101	£3,505	£34.70	15.35%
Tattershall Group	861	£33,472	£38.88	845	£25,800	£30.53	29.73%
Tetford	220	£7,487	£34.03	215	£7,130	£33.16	5.00%
Tetney	762	£32,500	£42.65	752	£22,000		47.73%
Theddlethorpe	233	£9,504	£40.79	236	£9,504	£40.27	0.00%
Thimbleby	95	£5,276	£55.54	92	£4,437	£48.23	18.91%
Thornton le Fen	119	£3,339	£28.05	119	£3,035	£25.50	10.00%
Thorpe St Peter	107	£2,100	£19.63	107	£2,021	£18.89	3.90%
Toynton All Saints	145	£4,200	£28.97	142	£3,800	£26.76	10.53%
Toynton St Peter	79	£3,150	£39.87	80	£2,950	£36.88	6.78%
Tumby	63	£1,000	£15.87	61	£1,000	£16.39	0.00%
Ulceby & Fordington	44	£0	£0.00	43	£0	£0.00	0.00%
Utterby	143	£8,844	£61.85	134	£8,844	£66.00	0.00%
Wainfleet All Saints	471	£41,433	£87.97	464	£41,433	£89.30	0.00%

Parish	Tax Base 2024/25	Precept 2024/25	Band 'D' 2024/25	Tax Base 2023/24	Precept 2023/24	Band 'D' 2023/24	% Change in Precept 23/24 - 24/25
Wainfleet St Mary	280	£0	£0.00	272	£0	£0.00	0.00%
Walmsgate	6	£0	£0.00	6	£0	£0.00	0.00%
Well	34	£0	£0.00	37	£0	£0.00	0.00%
Welton le Marsh	87	£5,661	£65.07	85	£4,508	£53.04	25.58%
Welton le Wold	58	£290	£5.00	59	£295	£5.00	-1.69%
West Ashby	97	£2,900	£29.90	96	£2,900	£30.21	0.00%
West Fen	38	£0	£0.00	38	£0	£0.00	0.00%
West Keal	116	£5,000	£43.10	115	£4,345	£37.78	15.07%
West Torrington	28	£600	£21.43	29	£600	£20.69	0.00%
Wildmore	178	£8,960	£50.34	179	£7,769	£43.40	15.33%
Willoughby & District	212	£8,219	£38.77	211	£8,219	£38.95	0.00%
Withcall	23	£0	£0.00	24	£0	£0.00	0.00%
Withern & Stain	128	£3,220	£25.16	133	£3,158	£23.74	1.98%
Wood Enderby	60	£0	£0.00	61	£0	£0.00	0.00%
Woodhall Spa	1,804	£89,548	£49.64	1780	£82,915	£46.58	8.00%
Woodhall/Stixwould	93	£0	£0.00	94	£0	£0.00	0.00%
Wragby	681	£29,632	£43.51	646	£26,100	£40.40	13.53%
Wyham cum Cadeby	14	£0	£0.00	14	£0	£0.00	0.00%
Yarburgh	58	£0	£0.00	59	£0	£0.00	0.00%
Ranby	24	£0	£0.00	25	£0	£0.00	0.00%
	47222	£3,739,313	£79.19	46377	£3,439,817	£74.17	6.77%

<sup>\*</sup>Beesby and Saleby Parish do not submit a precept, they provide a donation to the Council which they ask to be distributed amongst their parishioners

<sup>\*</sup>Mavis Enderby submitted a precept when previously one was not in place